Foundations and Pre-Calculus 10 \_j

Extra Sequences and Series Practice Questions

1) The terms 5x +2, 7x -4, and 10x + 6 are consecutive terms of an arithmetic
sequence. Determine the value of x and the 3 terms.
(X -4)-(5x+2) = 10x+6 - (FA-4)
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2) The sum of the first 2 terms of an arithmetic series is 13 and the sum of the first four
terms is 46. Determine the first 3 terms of the series and the sum of the first 6 terms.
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3) The 15 term of an arithmetic sequence is 43 and the sum of the first 15 terms of
‘Ehe sfrif; g 120. Determine thegrithl;ae‘%e’rgs of the sequence. 'S (45 ) IL{-oDHDSj‘:IE
L (15-Dd = 43 S (204 (15-Dd)=l2D 45 -210d riasd=a
P LIS =10 =550 e 64S - ©OS ol =l
a4 d=4> S (20 +14d) =20 ~(0S o\ =-S5
v J > <+ 10SA =120 =S
L2 — >0+ - -t
o= #4351 > Q=43 -14(S)

: z —— 7 It— .»2.}
4) Answer the following as either true or false. \’TZ 3 /_’2 27 1= B \

a) Doubling each term of an arithmetic series will double the sum of the series.

b) Keeping the first term constant and doubling the number of terms will double
the sum of the series.

¢) If each term of an arithmetic sequence is multiplied by a fixed number, the
resulting sequence will always be an arithmetic sequence.

Answers
1) x=-16, terms:-78, -116, -154 2) 4,9, 14, S, =99 3)-27,-22,-17 4a) Tb) Fc)T



